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5 H - TH 26 157 78 79 - - - - 5 24 2 3
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m— T B 18 52 19 22 - - - - 4 11 - -
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P 1 10 23 73 88 20 119 15 67
ROk H - - 1 2 - - - - - -
iz} I i - - 18 37 12 176 8 31
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i = - - - - - - 4 81 1 8
w5 W E - - 6 6 1 2 8 51 - -
b R A 11 3 6 1 3 5 23 3 10
&)l — T H - - 5 10 2 13 1 24 6 19
) = T B - - 5 18 2 6 - - 1 4
E) =T B - - 2 2 - - 1 3 2 3
)T OH 1 18 2 2 3 10 8 20 5 11
) # T H - - 2 9 4 11 9 23 3 9
FI)I AN T H - - 4 5 1 1 2 8 3 4
E) & T B - - 1 1 1 1 - - 1 2
TN JE =) - - - - - - 1 2 2 5
H v 4 12 17 6 31 10 93
IR P IR - - 26 54 3 14 8 62 7 119
5 H — T H - 7 11 1 14 5 121 3 12
5 H T H - - 1 2 1 1 3 10 3 5
= H =T H 1 1 2 3 - - - - 1 1
== I 1" = - - 5 55 4 15 13 114 10 32
mHE AT H 1 7 1 2 1 3 2 13 5 15
=MW — T H - - 1 1 2 5
=M T H - - - - - - - - 3 4
E=HMH =T 8 - - 1 - - - - - -
/NFIH—T H - 7 16 2 5 - - 1 1
/INFOHE T B 8 16 3 24 5 19
INFOH =T H - 2 2 - - 3 21 5 10

BRE: VAR 28R B A-TRE AT




(CF2846 7 1 HIRAE)

O P Q R
HE, FEIEE I, fEhk BE—b RHEE H—b R
(2 SR D)
I\
AT | PSR | FEEATE | MEEE SR | TR | EEE | FEIK | WeEFEK ES

12 63 22 345 - - 22 23955k
- - - - - - 1 21°F K Kk ¥ H
11 852 1 6|74 /S (£

46 11 75 - - 171M JE&

32 8 89 - - 1 20|/ & — T H

17 3 45 - - - -lIH B — T H

3 15 6 36 1 9 - -|#8 i) B
10 21 17 137 1 7 13 143| 4 el
9 28 13 141 - - 5 481 Z IR
- - - - - - - [T = —TH
_ _ 1 22 - - 8T AT = —~ T H
- - 1 3 - - 3 BT = =T H
32 17 255 21 10 74|14 15

- - 3 166 - - 47| B
19 3 47 - - - -1 JEA

1 1 4 42 - - 48 5 — T H
1 1 3 35 - - - -1 s - T H
- - - - - - 1 3|4 =
3 14 7 41 - - 1 2l s
- - 12 125 1 -y B, bia
4 6 5 41 - - 1 W& )l — T B
3 8 1 1 - - 5 195|% JIl — T H
3 68 4 63 - - - -IEF N = T B
2 15 7 33 - - 2 24(F JIl I T B
- - 6 88 - - 3 ) 7T H
2 6 8 24 - -1F )N T B
3 79 1 17 - - - -IEF ) & T B
1 1 1 4 - - 7|14 JE =
3 14 15 391 - - 9 48| 4 e
3 4 9 216 - - 12 83|77 Py i)
2 10 4 34 1 14 =5 m — T H
3 65 3 21 - - - -l H - T H
1 6 1 2 - - - = OHE =T B
4 14 5 26 1 & oH M T B
- - 10 85 - - - ®HOH LT H
3 3 2 17 - - 1 3ls= M — T H
3 3 1 43 - - - -1 H = T B
- - 1 3 - - - -1 | = T H
- - 2 45 - - 2 4p/NFfnH — T H
25 3 16 - - 4 /N Fnm T B

- 8 75 1 2 2/ foH =T H




47 EX(PHE) NREEXFHRUVBLAIRXER
—BT - KF(DDE)

A~R A~B C D E
LPEYE =Y IN/HES PR, BRAE, R 3 o
[l ES
X 45 I " . " N " N " I "
EE T K T e | TR P B S TR e S| TR e
G | B | %

Z W — T A 24 157 87 70 - - - - 8 69 - -
¥ W T B 13 47 22 25 - - - - 1 5 - -
ZH =T H 28 140 67 73 - - - - 5 28 - -
W — T H 30 155 73 82 - - - - 7 29 - -
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Y — T H 47 274 111 163 - - - - 4 15 2 5
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oz I R 652 5,893 25 226 27,845 199,259 18,234 443,289 138 7,414
B T 163 1,403 - - 10,713 89,498 6,271 131,338 49 3,234
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S 1 I 6 21 - - 384 2,144 251 8,158 1 7
o2 T 12 87 1 9 228 1,313 101 4,207 1 24
(B 5 34 - - 369 1,937 643 13,410 1 43
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KB 6 43 - - 88 368 43 429 1 3
=" Wy 4 17 1 7 64 254 42 404 - -
A N ] 10 66 4 47 71 430 77 2,864 - -
KXo HT 4 34 1 1 81 306 41 657 - -
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A i 226 1,484 188 1,064 100 877 260 3,110 8 185 79 543
= @ 322 2,257 210 722 50 300 148 2,715 7 71 113 547
® B 606 5,439 465 2,372 207 953 425 8,700 23 422 230 2,183
Bk il 1,100 11,831 676 5,190 311 3,516 643 12,109 31 758 657 18,431
N 1 R 1,098 9,815 695 3,833 298 2,304 708 11,068 18 176 335 5,491
(P ) 441 3,788 252 1,392 133 2,600 269 6,577 18 479 252 3,271
W 4 m 572 6,919 376 2,689 173 1,169 374 7,002 15 386 246 3,776
BEOR 388 3,056 316 1,689 109 731 286 4,997 9 94 160 2,198
[EC I S I ] 141 938 120 326 46 306 115 1,706 6 143 72 882
oW W 222 2,395 190 1,248 80 529 145 2,483 10 1,322 159 2,594
T 1] 138 1,369 88 307 38 412 71 1,228 4 150 53 387
£ T 1] 189 1,336 131 697 60 218 118 1,785 5 157 116 1,085
KBk HT 92 1,014 73 530 61 336 83 1,623 4 49 68 584
- S 91 527 85 269 61 339 100 1,138 5 174 37 251
S S 1} 22 219 29 369 5 17 23 552 4 28 30 266
X H HT 89 774 52 243 13 48 46 555 4 33 39 347
B om Hr 84 373 42 242 12 125 31 874 4 138 29 125
[ITR= vl 1] 45 254 28 149 15 30 20 285 6 36 36 228
B p HT 71 485 55 156 29 142 58 883 2 18 30 572
OB HT 608 7,706 79 1,052 29 349 35 643 10 43 66 484
2O T 62 292 30 74 1 2 17 155 4 24 16 79
R CI N 1] 282 1,922 120 564 27 121 96 1,542 8 136 54 399
=z I Hy 190 1,119 102 765 42 237 80 1,033 9 142 114 947
W A 23 128 9 113 4 5 11 293 1 6 12 153
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